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01 =W 12,340 10,000 2,340
OZFHUET2I X 2R A 12,340
307 S12t01& 48,000 20,000 28,000
02 BltANEX 48,000 20,000 28,000
OXNSE=H B & 2ZF4F W2 18,000
OZ&d =HdMdAZ= 22 30,000
308 NXIHHSOIE 325,000 310,000 15,000
01 XN MBLAEXS 325,000 310,000 15,000
OZH=ses 2L NN 30,000
OXNEEM E4 - K& 200,000
O2NE HMEAS ML 45,000
ONSHLE3HO 2ZLaE3st 50,000
ZIIEBT2H(2D) 30,000 57,200 £27,200
Il 10,000
= 20,000
307 GI2t0I A 30,000 57,200 A27,200
J| 10,000
= 20,000
04 QIRHHAIE X 30,000 57,200 227,200
OHFIESEEN 30,000
| 10,000
& 20,000
FaZgIA U T2 e (=21) 130,000 0 130,000
= 100,000
= 30,000
308 XX HHSOIA 130,000 0 130,000
= 100,000
= 30,000
01 MHXSHBAEEXZ 130,000 0 130,000
OEYIA Y 224 130,000
= 100,000
L= 30,000
e SZH (HZOHHE AL 22)(JIEH/DIIE} 172,596 166,432 6,164
2l 136,011 134,847 1,164
& 2Adl XA 136,011 134,847 1,164
101 el 24| 136,011 134,847 1,164
02 JIEtAE = 136,011 134,847 1,164
os=s 109,500
Oluz 45,091,000& *1H 45,091
Octa 32,204,500 x2H 64,409
OJtE=¢ 2,400
OB = Xt 960
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Oct=3 140,000& »2H « 123 3,360
OFAZAHI 130,000& 3 122 4,680
OAZe 22+ 8,328
OoLlta 8,057 & *35Al 2+ 1H + 12 3,384
Oet= 5,885& «35A[ 2tx2H x 123 4,944
O &=l 50,000 x3H 128 1,800
O ILE &I 2,343
ou= 45,091,000 1/12%70%*1/30* 1«11 965
Oct= 32,204,500 1/12%70%x1/30+2H 11 1,378
Jl=2&Hl 36,585 31,585 5,000
FH2Z Jl23l 36,585 31,585 5,000
201 LetEIH| 23,425 23,425 0
01 AtER22/Hl 21,425 21,425 0
ORN2E AR 2l 21,425
02 2323l 2,000 2,000 0
ORM2ZE 53294l 2,000
202 (4Hl 8,160 8,160 0
01 =LA b 8,160 8,160 0
ORAM2E =AY 8,160
405 KHoHESHI 5,000 0 5,000
01 T =SS HSHI 5,000 0 5,000
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